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int num;
num = 100;
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int num = 100;
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public class Prog02_01
{
public static void main(String[ ] args)

{
int a =10;

System. out. printin(a);
System. out. printIn(“a”);

}
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public class Prog02_02
{
public static void main(String[ ] args)
{
int a;
double b;

a=>56+T71;
System. out. printin(a);

b =a;
System. out. printin(b);

//a =b;
//System. out. printin(a) ;
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}
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a = (int)b;
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public class Prog02_03

{
public static void main(String[ ] args)

{
System. out. printin( “45 + 29 = 74" ) ;
System. out. printin( “45 + 29 = + (45 + 29) ),

}
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System.out.printin( “45 + 29 =7 + (45 + 29) );

S stE

System.out.printin( “45 +29 ="+ 74 );

XFHIE#R
System.out.printin( “45 + 29 =" + “74" );

XFHIDESE
System.out.printin( “45 + 29 = 74" );
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public class Prog02 04

{
public static void main(String[ ] args)

{
System. out. printin( “45 + 29 = 74" );
System. out. printin( “45 + 29 = 7 + 45 + 29);
System. out. printin(45 + 29 + "% 45 &£ 29 DFNTHB") ;
System. out. printin((45 + 29) + "% 45 &£ 29 DFITHB") ;
}
}
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45 + 29 = 74
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System.out.printin( 45 + 29 + “[%45L29DFITHD” );
e
System.out.printin( 74 + “[£45L29DFITHB” );
XFHIZEHR
System.out.printin( “74” + “[£45&29MDFNTHAB" );
X5 ESE
System.out.printin( “74(%45&29DFITHB” );
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public class Prog02 05

{
public static void main(String[ ] args)

{
System. out. printin( “10 /3 ="+ (10 / 3) );
System. out. printin( “10.0 / 3.0 ="+ (10.0 / 3.0) );
System. out.printin( “1+2="4+ (1+2) );
System. out. printin( “1.0+2.0="+ (1.0 + 2.0) );
System. out. printin( “0.5 +0.125 =" + (0.5 + 0.125) );
}
}
H 451
10/3=3
10.0 / 3.0 = 3. 3333333333333335
1+2=3
1.0+20=30

0.5+ 0.125 = 0.625
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public class Prog02_06

{
public static void main(String[ ] args)
{
int a, b, c;
double d, e, f;

a=10;

b =3,

¢c =a/b;

System. out. printin( “10 / 3 =" +¢ );

d = 10;
e =3;
f =d/e;

System. out. printin( “10.0 / 3.0 ="+ f );
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a=1;
b=2;
c =a+b;

System. out.printin( “1+2="+c¢);

d=1;
e =2,
f =d+e;

System. out. printin( “1.0 + 2.0 ="+ f );

d=0.5;
e = 0.125;
f =d+e;
System. out.printin( “0.5 + 0.125 =" + f );
}
}
H F3451
10/3=3
10.0 / 3.0 = 3. 3333333333333335
1+2=3
1.0+20=30

0.5+ 0.125 = 0.625
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public class Prog02_07

{
public static void main(String[ 1 args)
{

inta b, ¢ d e;

double f;
a=1;

b =10;

¢ = 100;

d = 1000;

e = 10000;

f =10.0/3.0;




}

System. out. printf ("E={+EH N DH¥N) ;

System. out. printf (" FDFEFEHH¥");

System. out. printf ("%d¥n%hd¥n’%d¥n%d¥n%d¥n”, a, b, ¢, d, e);
System. out. printf ("%f¥n”, f);

System. out. printf ("Hr#ZERAZE L THA¥) ;
System. out. printf ("%5d¥n%5bd¥n%5d¥n%bd¥n%5d¥n”, a, b, ¢, d, e);
System. out. printf ("%6. 3f¥n”, f);
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System. out. printf ("%f¥n”, f);
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